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* V=2300 L.E, V,=500 L.E

* Y =9year, P=5
Cull) Jandl) 45, k()
* Cn=(V-V,)/y=(2003-500) /9 =200 L.E
« Cn5=p[(V-V,) y] =5"200 = 1000 L.E
* Vp=V-pl(V-V,y]
* V5=2300 -1000 =1300 L.E
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A=1—i{£=l—#— =0.156
' 2300

C,, =V(1—A4)" =V7 =23001-0.156)' =701.86L.E
Vp=V-C,, =2300~701.86=1598 14LE

(%10 dunds cleasall o gmll) 4 Rl Jandl) 43 (¢

J, =V - V1)[ / ]

(1+1)’

0.1
(1+0.1)° -1
,=J,(1+i) =132.553(1+0.1)" =145 .81
. =J,(1+0.1)* =176 .4301
L=J(1+0.1)° =234 .8
s =J,(1+0.1)* =343 .8
Jr=J,+J,+J;+J,+J; =1033 .39L.E
Vp =V —J,=2300 —1033 .39 = 1266 .61 L.E

J, = (2300 - 500 )[ J=132.553 L.E
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Vp =V —Cn

2300 — 1400 =900L.E
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J—all
V=80000 L.E, V,=10000 L.E

Y =10 year, P=7
Culil) Jandl) 48y jha (1
Cn=(V-V,)/y=(80000 -10000) /10 = 7000 L.E
Cn7 =p [(V - V) y] = 7x7000 = 49000 L.E
Vp=V-p[V-V,)/y]
V7 = 80000 - 49000 = 31000 L.E
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V,=V-Vp
V, =2300 -=LE
PPN (%10 Ay e agall Ao ) &) Fial) Jacidl) 48y b (7
S (e
! 0.1 )
J:=(80000—10000)[ = |=L.E
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Vp =V —Chn

V7 =80000 —-=L.E

(10+9+8+7+6+5+4)=LE
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